Prices in effect 10/14/2024 updated 1-TDC prices.

Order processing fee - .12 a pound up to 200 lbs. Min fee - \$1. Flat \$24 fee over 200 lbs.

Joint Supplements - human and dog/cat

1-TDC is a joint supplement but its real power is its impact on periodontal health for both cats and dogs. (gum health, breath, gingivitis). 1-TDC does not contain glucosamine and can be taken in conjunction with other joint supplements.

- **120 ct for dogs and cats** \$50 (list price \$68)
- **90 ct for humans -** \$27 (list price \$35)

Testimonial from Dr James Anthony, Veterinary Dentist, University of Saskatchewan: https://www.facebook.com/watch/?v=2207018026285906

From study done on rabbits – source: https://pubmed.ncbi.nlm.nih.gov/19563290/

Background: The present study was planned to investigate the therapeutic actions of 1-tetradecanol complex (1-TDC), a novel monounsaturated fatty acid mixture, in established periodontitis in rabbits.

Results: P. gingivalis application resulted in periodontal disease with gingival inflammation and bone loss (30% compared to baseline) at 6 weeks. Treatment with 1-TDC stopped the progression of the disease and resulted in a significant reduction in the macroscopic periodontal inflammation, attachment, and bone loss (10.1% +/- 1.8%), whereas periodontal disease progressed in the untreated and placebo groups (P <0.05). Histologic assessment and histomorphometric measurements demonstrated that 1-TDC inhibited inflammatory cell infiltration and osteoclastic activity (P <0.05).

Conclusion: The findings suggest that topical application of cetylated monounsaturated fatty acid complex (1-TDC) is a potential therapeutic approach in controlling the progression of chronic periodontal disease.

Product info also at https://www.workssowell.com/products/1tdc-periodontal-joint-holistic-health-dogs-cats?variant=32463970369616

<u>CBD Oil</u> – These are two different oils from different companies. Which will work best depends on what you are using it for and the dosage.

RAWganics - 1500mg/1oz pharmaceutical grade CBD oil - \$149.00/ bottle.

Analysis in the media section on the Facebook page – album name CBD oil analysis: https://www.facebook.com/media/set/?set=oa.1990182241283971&type=3

1-TDC (WorksSoWell.com) – 300mg of CBD per bottle 10mg of CBD per 1ml serving - \$15/bottle

Organic hemp seed oil. Product information found here: https://www.workssowell.com/collections/1tdc-animal-dog-periodontal-1/products/organic-hemp-oil-for-dogs-cats

Analysis found here: https://cdn.shopify.com/s/files/1/0257/4938/9392/files/SG-PET-300-03121_Elite_Science_-_300mg_CBD_Pet_Blend_Salmon_Flavored_-_COA.pdf?v=1619040100

worksSOwell [®] CBD Dosage			
PET WEIGHT	LOW (Every 6-8 hours)	AVERAGE (Every 6-8 hours)	STRONG (Every 6-8 hours)
10 lbs	1 drop (.3mg)	6 drops (2mg)	18 drops (6mg)
20 lbs	2 drops (.6mg)	13 drops (4.3mg)	35 drops (11.6mg)
30 lbs	3 drops (1mg)	19 drops (6.3mg)	52 drops (17.3mg)
40 lbs	3 drops (1mg)	25 drops (8.3mg)	70 drops (23.3mg)
50 lbs	4 drops (1.3mg)	31 drops (10.3mg)	87 drops (29mg)
One Full Dropper= 30 drops		Very Tasty! Salmon Flavored	
€==D			

MISC products

- Frank's Ticked Off all natural tick preventative \$19.99 pkg.
- Raw Goat's milk 1 Qt (32oz) \$7.50

Bone Broths

- **Duck bone broth** choose 1 qt (32oz) \$18.99 or 8oz \$5.90
- **Beef bone broth** choose 1 qt (32oz)- \$16.99 or 8oz \$5.25
- **Turkey bone broth** choose 1 qt (32oz)- \$16.99 or 8oz \$5.25
- **Chicken bone broth** choose 1 qt (32oz) \$15.99 or 8oz \$5.00

Beef products calories per lb for beef complete: 750-775

• 5 lb tubes –

No Premix or w/Premix 3.20/lb 16.00 each

Premix w/Veggies \$3.25/lb **\$16.25** each

• 2 lb tubes –

all \$3.30/lb **\$6.60** each. Choose type: No Premix or w/Premix. (there is no option w/veggies)

• 20 lb boxes –

Patties w/Premix only, 8oz - \$75.00

Patties w/Premix only, 4oz - \$76.00

Patties w/Premix and veggies, 4oz. - \$76.50

- **Beef Meaty bones 20lb box:** \$1.90/lb **\$38.00**/box Specify what type of bone you want. Boxes come in small femur/marrow around 3 inches, or large femur/marrow around 6 inches, or split knuckle, or full knuckle, or small soft bones (soft bones are non-weight bearing bones, mostly rib cuts)
- **Ground Beef Heart** 2 lb tube. 3.60/lb **\$6.60** each.
- **Ground organ mix** (heart, liver, kidney) 2 lb tube. 3.40/lb **\$6.80** each.
- For cats: 20 lb box 1 oz Nuggets w/premix formulated for cats-\$77.00 box.

Chicken products calories per lb for chicken complete: 925-950

• 5 lb tubes

No Premix or w/Premix \$2.65/lb \$13.25 each

Premix w/Veggies \$2.70/lb \$13.50 each

• 2 lb tube

all \$2.75/lb \$5.50 each. Choose type: No Premix or w/Premix. (there is no option w/veggies)

- 5 lb tubes Necks & Backs w/ Liver \$2.00/lb \$10.00 each
- 20 lb boxes

Patties w/Premix only, 8oz - \$64.00

Patties w/Premix only, 4oz - \$64.50

Patties w/Premix and veggies, 4oz. - \$65.00

- Chicken necks 40 lb box \$42.00
- For cats: 20 lb box 1 oz Nuggets w/premix formulated for cats-\$66.00 box.

Turkey products calories per lb for turkey complete: 1075-1100

• 5 lb tubes

No Premix or w/Premix \$4.20/lb **\$21.00** each.

Premix w/Veggies \$4.25/lb **\$21.25** each

• **2 lb tube No premix only** \$4.30/lb **\$8.60** each.

• 20 lb boxes

Patties 8oz. premix only (no veggie option) - \$95.00

Nuggets 1 oz. premix only (no veggie option) - \$97.00 – please note, if nuggets are not available at time of delivery 4oz patties w/premix only will be substituted.

- Turkey necks 30 lb box \$43.00 box
- For cats: 20 lb box 1 oz Nuggets w/premix formulated for cats \$98.00 box.

Blends

• R-75 Performance diet - 1150-1175 calories/lb, contains a performance formula of premix

5 lb tubes \$4.05/lb **\$20.25** each.

20 lb box 8oz patties - \$89.00 box

Beef/Turkey 975-1125 calories/lb -with premix only

5 lb tube - \$3.55/lb - **\$17.75** each.

• 3 Meat (Chicken/Beef/Duck) 1000-1075 calories/lb -with premix only

5 lb tube - \$3.95/lb **\$19.75** each.

• **3 Meat** (Chicken/Beef/Duck)

20 lb box - **\$85.00**. Only available w/premix and veggies. Choose either 4oz patties or nuggets. – please note, if nuggets are not available at time of delivery 4oz patties premix/veggies will be substituted.

Duck Products

Due to supply issues, products containing solely duck meat are not available – necks and blends are available.

- 25 lb box organic necks \$97.50 box.
- 6 necks approx. 4-5 lb \$9.50 pkg.

Rabbit products calories per lb for rabbit complete: 450-500

5 lb tubes

No Premix or w/Premix \$7.55/lb **\$37.75** each.

Premix w/veggies \$7.60/lb **\$38.00** each

- **2 lb tube No premix only** \$7.65/lb **\$15.30** each.
- 20 lb box of Patties (8oz.) \$152.00 box premix only-no veggies

- **20 lb box** of Nuggets (1 oz.) \$153.00 box premix only-no veggies please note, if nuggets are not available at time of delivery 4oz patties premix only will be substituted
- For cats: 20 lb box 1 oz Nuggets w/premix formulated for cats- \$154.00 box.

<u>Lamb products</u> calories per lb for lamb complete: 1050-1075

• 5 lb tubes

No Premix or w/Premix \$9.75/lb \$48.75 each

Premix w/ Veggies \$9.80/lb **\$49.00** each

- 2 lb tube No premix only \$9.85/lb \$19.70 each.
- 20 lb box of Patties (8oz.) \$196.00 box premix only-no veggies
- **20 lb box** of Nuggets (1 oz.) **\$197.00** box premix only-no veggies— please note, if nuggets are not available at time of delivery 4oz patties premix only will be substituted
- For cats: 20 lb box 1 oz Nuggets w/premix formulated for cats- \$198.00 box.
